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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. Teme Tayey 99 939 U3 R ATHiw Afqerda: fag |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

2. W UH w Afrer ¥
All the questions are compulsory.

3. WUk W 1 3T I S SR-YfEdent | 71 fod |

Write the answer to each question in the given answer-book
only.

4. 99 9ol § it @oe €, 59 9 & ST T WY g foad |

For questions having more than one part, the answers to those

parts are to be written together in continuity.
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5. 9 A & fe<l 9 S ®u=R H Tt goer &1 fe / =R / foienymg
B T TE=a1 9T o U%A i 9T 914 |

If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi

version should be treated valid.

6. WUS WA HE 3ifeh Uedeh U9
A 1-8 1
El 9-14 2
q 15-24 3
< 25 -30 5
Section Question Nos. Marks per question
A 1-8 1
B 9-14 2
C 15 -24 3
D 25 -30 5

7. U A 28 ¥ 30 H A fahed © |

There are internal choices in Q. No. 28 to 30.

o ue - A

Section - A
1. foremua ud fg-foremum fuferan ¥t o faf@d |

Write one difference between displacement and double displacement

reaction. 1
2. HIF o TgA h1 Hgfora e fafed |

Write the balanced equation of combustion of methane. 1
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3.  TIOIUSH i Heddl & STIER, Yhfd H Fal deal ol e fohadr off ?

According to the assumption of Newlands, what is the total number of

elements in nature ? 1

4.  rHten H yerA fafy w1 9 fafed |

Write the name of reproductive method in Amoeba. 1
5.  hIE Q1 G & SHATYH 389 & F1H od1gd |

Mention the names of any two types of fossil fuels. 1
6. fTaga sif= =1 Awifera fost sAmEd |

Draw a labelled diagram of an electric generator. 1
7. I & {@T RER il T8l FHredt § 2

Why do magnetic field lines not intersect each other ? 1

8. TWH 12 O U™ & i SRIeR THS HTh 3¢ [AYSTHR 3TH{d § Ser o1a1 € |
Iy =t forelt TR s & <Ml fa o 75 o Ifay 9ma & |

A 12 () resistance is cut into three equal parts and then connected in
triangular form. Determine the equivalent resistance between two ends

of any side of the triangle. 1
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e - d

Section - B

9. T e s g W Hfara feoroft fafad |

Write a short note on gangue and anode mud. 1+1=2
10. ST e & &t fagard fafed |

What are the characteristics of good sources of energy ? 2
11. A H S Jolle 1 THLAES |

Explain flow of energy in an ecosystem. 2
12. el forehre # SfameHl & Hewd Hl THAEA |

Explain the importance of fossils in organic evolution. 2

13. W & AW ( Y9TEl ) T S ( STYUTET ) AT drel Giell § Hehio i W
F, UGl § 9ret S=ifcl o1 A&7 SAuId 6 3 g1 T hifsrd |

Draw linear diagram to obtain ratio of F, progeny as a result of

crossing between tall pea plant ( dominant ) with short pea plant

( recessive ). 2
14, <H-3fede =& A § 7 39 Y R fran s WA © 2

Why is hypermetropia caused ? How can it be corrected ? 1+1=2
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o e -9

Section - C

15. FE 99§ X, Y 9 Z &l g9 :

) Cu+CO, =t T TEY (X))

i) Ag+y el T€1e (Ag, S)

i) FeSO, 2 >Fe,0, +S0, +Z.

Identify X, Y and Z in the following equations :

i) Cu+ CO, moisture _, Green compound (X )

ii) Ag+Y 2L - Black compound (Ag, S)

heat

iii) FeSO4 —>F(3203+SO3 + Z. 1+1+1=3

16. 1 B & 5o —
i) CuSO,(aq) +Fe(s)—=?
i) Zn(s)+H,S0,(l) —=7?
iii) Na(s)+02(g) - ?
What happens when —
i) CuSO,(aq) +Fe(s)—=?
i) Zn(s)+H,S0,(l) —=7?
iii) Na(s)+O,(g) —=>7? 1+41+1=3
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17. Hueelia g smefaeh strad Ao St gt it

) o % SH W

ii) Tl % TON Sk STUR T

iil) T & SER W |

Compare Mendeleev and modern periodic tables

i) on the basis of groups

ii) on the basis of properties of elements

iii) on the basis of classification. 1+1+1=3

18. TS 1§ ? ¥H-1 9 o # &1 Q) X e |

What is blood pressure ? Give any two differences between artery and

vein. 1+2=3
19. YTSHad F1 § 2 WHIE § qTegyad Ufshar &1 Juiq Hifsd |

What is regeneration ? Describe the process of regeneration in

Planaria. 1+2=3

20. TgdA TEME &Mfad & arelt U9 w1 9 fated | 39 WY 9 gy '@au &
T w1 fE foeg feranfafy g wd 9 gt & 2

Write the name of the gland that secretes insulin hormone. What is the
mechanism to control the quantity of insulin of the gland and how

does it secrete ? 1+2=3
21. RN 1§ 2 UEd H YhTemgad ol ArHifehd fost sl gemed 9 guey |

What is phototropism ? Show phototropism in plant with the help of a

labelled diagram. 1+2=3
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22. 9t %Y H [ 1 gfqUel w1 gy fo= s | 39 SASH % g gfaiy & g3

1 el HIFST |

Draw circuit diagram of three resistances connected in series
combination. Derive formula for equivalent resistance for this

combination. 1+2=3

23. YT o 3T9ad & faT T o1 fam fafeu |

T 379qd <O o §d 9 158H T W W o &1 I A1 srafdd & arsafas
yfafera aar ® 1 g9or & yfafara i g8 T& 901 T HikE O T4 HIGC |

State Snell's law for refraction of light.

A concave mirror forms two times magnified and real image of an
object placed at 15 cm from its pole. Determine the distance of image

from mirror and focal length of the mirror. 1+2=3

24. 8 wfaRiy & fou ¢ yered % AR HT FeAE | JAT STIIEI-HIE HT HAFA AT |
T USTd ok T IR R @alg 20 AT AIIEI-FE &ARA %aﬁww

iy 91d SHiftaT |

A wire of a given material having length | and area of cross-section A

has a resistance 8 (). Determine the resistance of another wire of same

A
material having length 21 and area of cross-section 5 ? 3
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o ue -

Section - D

25. W AY B! gafead sifse -
A
(i) HeIel A (a)
(i) goIcT 3Fe (b)
(iii) Wi o= (c)
(iv) et & (d)
(v) 3oA &R (e)
(vi) STTEE qEIm (0
(vil) TRt ol (g)
(viii) &R Te01 (h)
(ix) WTehRideh §eeh (i)
(x) FvAfod geueh \)
Match column A with B :
A

(i) Strong acid (a)
(ii) Weak acid (b)
(iii) Antacid (c)
(iv) Strong base (d)
(v) Weak base (e)
(vi) Neutral salt ()
(vii) Acidic salt (g)
(viii) Basic salt (h)
(ix) Natural indicator (i)
(x) Synthetic indicator 4)
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goal

NH , Cl
Na, CO 4

afere S

CH 5 COOH
H, SO,
NH , OH
fiyesh & Hrfren
NaOH

NaCl.

1
10 x5 = 5
B
Turmeric

NH , Cl

Na, CO 4
Methyl orange
CH 5 COOH

H, SO,

NH , OH

Milk of magnesia
NaOH

NacCl.
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26. (1) VA HR JIET F FN 3L & ?
() & Jie o a0 9 I gHened 1 Ioerd Hirad |
(@) What are the aims of watershed management ?
(b) Mention the problems caused by the construction of large dams.
2+3=5
27. ghig & 64 wgd € 7 fFd 5T g® & IR SR TR &7 3@ w1

fost a13d | 3! Tl =R fasioarsy =1 fafgw | fodt urrarst =S 3 9weg
Jrhg &5 i foen A w4 o1 Fem fafae |

What is magnetic field ? Draw magnetic field lines around a bar

magnet. Write down four characteristics of magnetic field lines. State
the rule for finding the direction of magnetic field associated with a

current carrying conductor. 1+1+2+1=5
28. (i) UHifeswh 31t o1 W= 5 fafead |

(i) U *l 3o fog w=m fafed |

(iti) TS TRHTI] I ISTEIOT TR FEHATS |

(v C,Hgz.C3H,,CyHg M C, H, # ¥ TEq< eESHEA Bied |

(v) gA 9 AT § Teh 3T faf@d |

arerar
FefafEd i SeTeTor T THEEY ¢
(i) HI TTEIHTEA

(i) Yehrelel 1 faemfaenor

(iti) fcemaT sifyfshan

(iv) BTSEIhTE hl T

(v) STHJW TTESEIhTe S BTSSRI |
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(i) Write the structural formula of Acetic acid.

(ii) Write the electron dot structure of ethane.

(iii) Explain odd atom by an example.

(iv) Select unsaturated hydrocarbon in C o H 6 C 3 H,. C 3 H 8 and

CoH,.
(v) Write a difference between soap and detergents.
1+1+41+1+41=5

OR

Explain the following with example :

(i) Saturated hydrocarbon

(ii) Denaturation of alcohol

(iii) Displacement reaction

(iv) Combustion of hydrocarbon

(v) Hydrogenation of unsaturated hydrocarbon.

1+1+1+1+1=5
29. QIR IRE=TT ¥ AT 1 THAA & 2 Ha H ATRIS T hre SRS &
uftae qen fafraa =1 sgaeeregs fego ( fo51 ) =1 9e1@ar ¥ 991 |

S PE

JHRTI] 1 ATHIThd Fo1 aTgd | 31 TAT0 & Ufshan w9=tred |

What do you understand by double circulation ? Explain transport
and exchange of oxygen and carbon dioxide with the help of schematic

representation ( diagram ). 1+2+2=5
OR

Draw labelled diagram of a nephron. Explain the process of urine

formation. 2+3=5
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30. Tysn & fau 59 =»ior wd fage™ & &1 gReafiyd wifse | 9q 99 &1 =9
H TERA T T WagH | 9uif 1 %A fafan |

% 99 & 94 ! YfhdT Tl IHSAEY |

S PE

el o o foe o gt (w ), wiafers gt (v ) T ®RE g0 (f) | "y
foafan | emadH ford wed € 2 919 % Wlel Si" & SAYSIHAIR o T 91 9 H

e et k1 Y & € | 9fE a1g § TR kI o1 3 x 108 m/s ¥, @

(@) HIAH (b) Sl H, YR hi =Tl AT HITST |

Define prism angle and angle of deviation for a prism. Write the
sequence of colours in the spectrum formed by the passage of white

light through a prism.
Explain the process of formation of rainbow. 1+1+41+42=5
OR

Write the relation between object distance ( u ), image distance ( v )

and focal distance (f ) of a spherical lens. What is magnification ?

The refractive index of glass with respect to air is % and the refractive

index of water with respect to air is % . If the speed of light in air is

3x 108 m/s, find the speed of light in (a) glass, (b) water.

1 1
I+1+15 +135 =5
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